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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.
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Before answering the qu ns, ensure that you have been supplied the correct and
complete question pa&'ﬁ; no claim in this regard, will be entertained after

examination. A(§ . _.
S

arg R
General Instructions :
i) & g a8
All questions are compulsory. ‘
i) T w1 @ 35 a7 aghe W B T 5T 1 % 7 P AT %
o &y

ot ; jon is of 1
Questions from 1 to 35 are objective type questions. Each question f
mark. Answer the questions as per instructions.
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“ R : Ry g g% 59 (1-18) 7 790 GRF TUIH R g7 -

Directions : Select the most appropriate option from those given below each question
(1 to 18):

1. &9 MR agg ¥ @ 1
(A) g R SR (B) ol @l aftmar
(C) Tttt FA (D) AR #
A positively charged body has in it : .
(A) Excess of Neutrons - | (B) Excess of Eleétrons
(C) Deficiency of Electrons (D) Deficiency of Protons

2. érta%qm—ge%ﬁ1%@%%@1@&%10&1@%1%%%&@%#

dear 8 0 1
(A) 10 A/ (B) ~500 2R /FH
(C) 1000 e /FAH (D). 250 e/FM

Two plates are at 1 cm a part and potential difference between them is 10 volt.
The Intensity of electric ﬂg etween the plates is :

(A) 10 Newton/ Coué@i (B) 500 Newton/ Coulo_mb
(C) 1000 Newto@@oulemb (D) 250 Newton/Coulomb
N

3. hgqumma(j)wm&mvd)ﬁwa%:

. ne

(A) j=neVu ' B) J =V_d
Ve D) j=—

© J= ne neVy

The relation between current density (j) and drift velocity (Vq) is :
; B) j=2%

(A) j=neVa -"'Vd
=V D) j=—1I

€ J= ne 0 neVy
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4. Rmmﬂﬁmmﬂwmm%ﬁméﬁﬁmwmﬂ

2 : o
[A] 2R {(B) 4R
(C) 6R (D} 8R

The length of a metallic wire of R ohm resistance is stretched two times its
initial length. Its new resistance is : '

(A) 2R (B) " 4R
(C) 6R ' (D) 8R
5. TN RN I HIA © | 1
(A) Fa@ AT & (B) o T A
(C) 3Iga @ T &= (D) 3N &=t & ¥ A 7
A moving charge produces : |
(A) Electric field only (B) Magnetic field only

(C) Both Electric and Magnetic fields (D) None of the fields

6. XA I FA-X@I : | 1
(A) S g W E-g # g (B) 99l w <l &t @ Pree et ¥
(C) Qﬁ#—gﬂ%ﬁ%ﬁt'ﬂﬂm D) T=& & 7 ¥ Fredl ¥
Two magnetic lines of fo
(A) Cut each other a@e neutral point 4

(B) Cuteach o e@iear north or south pole
(C) Never cut eac other

(D) Cut at the middle of magnet

7. T H W AR D QA A ERT I g oo R wwer B 1
(A) WD &THT W (B) & i doar W
(C) & % N9 T 3 IR W (D) IFF T W

The magnetic flux threading a wire loop placed in a magnetic field depend
upon :

(A) Area of the loop
(B) Magnitude of the field

(C) Ormentation of the loop with respect to the field
(D)- All of the above
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8.

10.

11,

(4) | 5628/(Set : B)

M Aga a0 W Rew & a1 A B

(A) a=1 & Frm |/ (B) TR 3 & Ty > Faw @
() wrd-8aE & from @ (D) T & Fram |
Direction of Induced Current is given by :

(A) Lenz's Law (B) Fleming's Left Hand Rule
(C) Biot-Savert's Law (D) Ampere's Law

. & a9 RFE §IE 5D @ —3D ¥ @ § @ ¥, o Hge wee-gd 8

(A) 50 ¥ . (B) 50 &M
(C) 253 - (D) 25 &R -

Two lens of power 5D and -3D are placed in contact. Focal length of the

combination will be :

1

Two lens of power SD and -3D are placed in contact. Focal length of the

combination will be :

(A) SOcm (B) =50 cm
{C) 25cm _ (D) —25cm
'mﬂﬁm g & g T & @ gl & ?

) ot SR mﬂ‘%% (B) faiqer’
[C} qEA \Q | (D) @R
Which phcnorr@% is used in optical fibre ?
(A) Total Intemal Reflection (B) Dispersion
(C) Reflection (D) Interference

frdt B 3 Rie =gam Reem @ od B

(A) ST FoT > FEE T (B) oMYae B = Frivw o
(C) T BT < Pt B " (D) IWAF A ¥ HE @
Condition of minimum deviation for a Prism is :

(A) Angle of Incidence > Angle of Emergence

(B) Angle of Incidence = Angle of Emergence

(C) Angle of Incidence < Angle of Emergence

(D) None of the above
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12, m%%fﬂﬂnﬁmﬂmﬁﬁl%mﬂaﬂm:ﬁrgaﬂﬁqzhﬁhﬁrﬁﬂﬁum= 1
(A) = T B (B) agar ¥

(C) T (L) e Yot waw & o ¥

In Young's double slit experiment, the screen is moved away from the plane of
the slits, angular scparation of the Fringes :
(A) rcmain constant (B) increases

(C} decrcascs (D) interference pattern disappears

13. 100 V 3 @i g/ @fa B ot § deie sl aod B 1
(A) 1.127 A (B) 11.27A
(C) 12.27A (D) 1.227 A

de-Broglie wavelength associated with an electron, accelerated through a
potential difference of 100 Volt is :

(A) 1.127 A B) 11.27A
(C) 12.27A ' (D) 1.227 A

14. fzifedl Gfd & G o swe-fEg e @ o 3 3 R 1921 F M @

T e o e N 1
(A) Pl @ N (B) SEEET @
(C) THE A \sz§’ (D) HFeA &
Awarded the No@%rim in physics for his contribution to theoretical physics
and the photoeléctric effect in 1921 was : '
(A) Millikan - (B) Einstein
(C) Rutherford - (D) Compton
15. ¥ ud A R Ferde geAT A 99 B B, e € ¢ 1

(A) TN | (B) T
(C) T (D) Iqdaw &t
All nuclides with same mass number A are called :
(A) Isobars (B) Isotones
(C) Isotopes (D) All of the above
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16. TEZOM TN A qu AR orawdn § q@agE B ga Hol T -3.4 eV B TH a0

§ g @ e St § _ a
‘(A) -3.4 eV (B) 6.8cV
(C) -6.8 eV (D) 3.4 cV

The total energy of an electron in the first excited state of the hydrogen atom is
about -3.4 eV. Kinetic energy of the electron in this state is :

(A) -3.4 eV . (B) 6.8 eV
(C) -6.8eV (D) 3.4eV

17. € p-n ¥ R pRim amw sgwged B o 8, @ g . 1
(A) g qees o 2 (B) FEHEAT AqGF ONT H A FI adl &
C) @ Ius R a7 wT M B (D) SR ¥ § HE

When a forward biased is applied to a p-n junction, it :
(A) Raises the potential barrier

(B) Reduces the majority carrier current to zero -

(C) Lowers the potential barrier

(D) None of the above

18. e @ I dvs Fot & R 7 R, ot v wdioh s ey ¢ e e B o 1

////}C
\ 7

3 QR § Q'Q\
A) TE S\\ (B) TduEE |
(C) FEWH ,§) (D) IFT ¥ q B &

Energy band of su nce shown in the figure, where V is valence band and C
is conduction b : '

////}C
\

Substance is :
(A) Metal (B) Semiconductor
(C) Insulator (D) None of the above

Fdr : (v 19 & 27) gygaa oY & Raw &l @ g e -

Direction : (Q. No. 19 to 27) Fill in the blanks with appropriate answer :
19. fgg &% 3a R & far ¥ &y .............. # waifes B e 8

Electric field is in the direction in which the ........ccvv... decreases steepest.
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20, T(CEHN TREA AN AEH F O ok &1 A 7 I8 T oMY ARF ... g
Conductivity ariscs [rom mobile charge carriers. In mctals, these mobile
charge carriers arc ............... :

21, WEIIRG IR AR R ST T I ... e B 1
The valuc of magnetic field at any pqint in the open space inside the toroid
IS ceviiiecnennies .

22. @-IEHT H SITFF ..ovvennne. g | 1
SI unit of self-inductance is .............. : | _

23. e forll & TR #t OF i Ry et o @ W 9o ot & el
P SR FTA 1 . | 1
One common way to generate ............. rays is to bombard a metal target by
high energy electrons. 7

24. EF X TG G THT B oo 3 Fam sfaRa R
Snell expcriméntall_v obtained the laws of .............., of light,

25. AR v B B FA ..o, Bt 1
Energy of photon having frequency vis ............... .

YR % o T P agl b T ¥ - g
In .o, , lighter ‘n‘b~ i combirne to form a larger nucleus.

27.'ﬁ?d1p-n€fﬁ%ﬁﬂ1§&?w€r%ﬁgﬁnﬁmﬁﬁ?ﬁ§—ﬁww ............ r 1

Two important pﬁgcess oceur during the formation of a p-n junction : diffusion
and ................

Rdr : (797 28 & 35) et go & guT @ =) a7 R -

Direction : (Q. No. 28 to 35) Answer the following questions in one word/ sentence :

28. gl & WAl B wivEA R A9 H T T q9E I3l @ 7 1
What is the effect on relaxation time of electrons in metals, with increase in
temperature.

29. @ oM MRAY FARR-FA § 2 8 ¢ R o wm R 1
Two unequal resistance are connected in parallel. What is same for them ?
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30.

31.

32.

33.

34.

35.

(8) | 5628/(Set : B)
9ot & g A W T R 1 A R a8 ? 1

What is the value of angle of dip at the Earth's magnetic poles ?

10 ¥ -3 $ 0@ 9 A 20 PN R T W @ Rg-Hwg A @ T A
% 7al o ST e T 7 1

A point source of light is placed at a distance of 20 ¢cm from a convex lens of
focal length 10 em. Where should image formed on the other side of lens.

TE S A OF wemn (e n) § orqafia dar ¥ enafd @n ervaffa ad
F TR I FA - | 1
Monochromatic light is refracted from air into a medium of refractive index n.
What is the-ratio of the wavelengths of the incident and the refracted waves.

WwawﬁdﬁamwaﬁmmﬁﬁﬁW%rWaﬁmw
HfHTH F & fow a0t & 9 sarR Bemr @ 7 1

Two light waves of equal amplitude and wavelength are superimposed. What is
the phase difference between the waves'so that amplitude of the resultant
wave will be maximum.

SR e $ g AN W A T T R B 1o 2 g@d A
Rl 84 2 & | 1

. N : .
The radius of the§@st electron-orbit in hydrogen atom of Bohr model is To-
What will be the Padiusof the second orbit,

W eI ¥ R A EN 8x 103 AN awr P A 5x1012 - Bl o
p-eRY B 3T n-TEyl i

In a semiconductor, the concentration of electrons is 8x10!° ¢cm-3 and that of
holes is 5x10' ¢m3.Isita p-type or n-type semiconductor ?
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